ZyTRA > ML~

l

B = Ele] B E= &e] gEle] == 0 = =le]
KRIL/H 1-0/H I1-0/%KRIL =RNL/H RV R/H RV KRIV NZRJL./H TRV R/ KRV mr7>R /[
(GX) (GX) (GX) (GX) (GX) (GX) (GX) (GX) (GX)
H5H B8 |458%| & = 5 = 5 = 5 = 5 = 7 = 5 = b = 5 =
1818[8
1828|8
1H38|X 1| -197 51 -105 41 32 -125 -98 34 -170 60 4 -58 -133 50 2 -53 -29 7
184H (K 1{ -197 51 -105 41 32 -125 -98 34 -170 60 4 -58 -133 50 2 -53 -29 7
1H58|AK 31 -200 65 -119 47 0 -123 -99 39 -175 66 -17 -62 -137 49 0 -56 -29 7
1H6H (& 1{ -200 65 -119 47 0 -123 -99 39 -175 66 -17 -62 -137 49 0 -56 -29 7
1878|x 1 -200 65 -119 47 0 -123 -99 39 -175 66 -17 -62 -137 49 0 -56 -29 7
1888[8
1598[8
18108|X 1{ -200 65 -119 47 0 -123 -99 39 -175 66 -17 -62 -137 49 0 -56 -29 7
1A118|XK 1| -200 65 -119 47 0 -123 -99 39 -175 66 -17 -62 -137 49 0 -56 -29 7
1A12H|XK 3| -185 65 -112 47 25 -123 -98 44 -175 66 3 -57 -133 63 1 -56 -29 8
18138 (& 1| -185 65 -112 47 25 -123 -98 44 -175 66 3 -57 -133 63 1 -56 -29 8
18148|x 1 -185 65 -112 47 25 -123 -98 44 -175 66 3 -57 -133 63 1 -56 -29 8
18158]8
18168|8
18178|X 1| -185 65 -112 47 25 -123 -98 44 -175 66 3 -57 -133 63 1 -56 -29 8
1818H|XK 1{ -185 65 -112 47 25 -123 -98 44 -175 66 3 -57 -133 63 1 -56 -29 8
1H19H(|AK 3| -185 63 -112 48 22 -121 -101 43 -175 66 3 -56 -135 57 1 -55 -29 7
18208 (& 1{ -185 63 -112 48 22 -121 -101 43 -175 66 3 -56 -135 57 1 -55 -29 7
18218|x 1 -185 63 -112 48 22 -121 -101 43 -175 66 3 -56 -135 57 1 -55 -29 7
18228|8
1A238|A
18248(|X 1{ -185 63 -112 48 22 -121 -101 43 -175 66 3 -56 -135 57 1 -55 -29 7
18258|K 1| -185 63 -112 48 22 -121 -101 43 -175 66 3 -56 -135 57 1 -55 -29 7
1826H|XK 3| -185 62 -112 47 22 -121 -257 43 -175 66 3 -88 -138 64 1 -55 -30 8
18278 |& 1| -185 60 -112 47 21 -121 -104 43 -175 65 3 -56 -138 64 1 -55 -30 8
1828H|x 1 -185 60 -112 47 21 -121 -104 43 -175 65 3 -56 -138 64 1 -55 -30 8
18298[8
18308|8
1A318|X 1| -185 60 -112 47 21 -121 -104 43 -175 65 3 -56 -138 64 1 -55 -30 8

% _FERORTYITRA> NS, 10,000 BE EAIHOOEREATT,




ZyTRA> ML A~

B = P == [ O [ B E= vl SEal = ol mX +]0
NZRIL/KRIL HFERIL/ 1-0/%f0R | KRL/AF9RL | &ROR/ERL NP =RIL/NZRL 242/
(GX) (GX) (GX) (GX) (GX) (GX) (GX) (GX)
158 lEH |f5B%| & B 5t = 5t B 5t B 5t = 5t B 5t B 5t B 7t B
1H18|H
1H2H|H
1A3H|X 1 16 -68 0 -25 -122 28 24 -72 -40 -29 -30 -23 -46 5 3 -43 -72
1H4H8|K 1 16 -68 0 25| -122 28 24 -72 -40 -29 -30 -23 -46 5 3 -43 -72
1A5H|AK 3 16 -65 -16 -30 -123 28 25 -67 -44 -28 -33 -23 -48 5 3 -42 -118
1H6H|& 1 16 -65 -16 -30 | -123 28 25 -67 -44 -28 -33 -23 -48 5 3 -42 | -118
1A78|x 1 16 -65 -16 -30 -123 28 25 -67 -44 -28 -33 -23 -48 5) 3 -42 -118
1H8H|H
1H9H|HA
1H10H|X 1 16 -65 -16 -30 | -123 28 25 -67 -44 -28 -33 -23 -48 5 3 -42 | -118
1H11H|K 1 16 -65 -16 -30 -123 28 25 -67 -44 -28 -33 -23 -48 5 3 -42 -118
1H12H|K 3 16 -68 0 -30 | -125 38 28 -68 -32 -25 -32 -23 -49 5 3 -42 -57
1H13H|%& 1 16 -68 0 -30 -125 38 28 -68 -32 -25 -32 -23 -49 5 3 -42 -57
18148 |L 1 16 -68 0 -30 -125 38 28 -68 -32 -25 -32 -23 -49 5 3 -42 -57
1H15H|H
1H16H|H
18178 X 1 16 -68 0 -30 -125 38 28 -68 -32 -25 -32 -23 -49 5 3 -42 -57
1A18H|K 1 16| -68 0| -30| -125 38 28| -68| -32| -25| -32| -23| -49 5 3| -42| -57
1819H|K 3 16 -68 0 -29 -122 38 27 -68 -28 -6 -31 -15 -45 5 3 -39 -59
18208 |& 1 16 -68 0 -29 | -122 38 27 -68 -28 -6 -31 -15 -45 5 3 -39 -59
18218 |L 1 16 -68 0 -29 -122 38 27 -68 -28 -6 -31 -15 -45 5) 3 -39 -59
1H22H|H
1H238(A
1H24H| N 1 16 -68 0 -29 | -122 38 27 -68 -28 -6 -31 -15 -45 5 3 -39 -59
1H25H|K 1 16 -68 0 -29 -122 38 27 -68 -28 -6 -31 -15 -45 5 3 -39 -59
1H26H|K 3 20| -101 -6 -28 | -126 38 28 -70 -26 -29 -53 -23 -41 5 -67 -33 -60
18278 |% 1 0 -70 0 -27 -129 38 28 -70 -24 -10 -40 -28 -41 5 3 -43 -60
1H828H|L 1 0 -70 0 =27 -129 38 28 -70 -24 -10 -40 -28 -41 5 3 -43 -60
1H29H|H
1H30H|H
1H31H|X 1 0 -70 0 -27 -129 38 28 -70 -24 -10 -40 -28 -41 5 3 -43 -60
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ZyTRA> ML~

=3 Elal ==+l LR e | T ] [ ] D] =0 il
HKRIL AR I-0/NZRL | WACK/HFSFL | REL/ZAA | 1-0/h75FL 1-0/24% BAOR/NZFL | BAUKR/ZAR | RV HT5EL
(GX) (Gx) (GX) (GX) (Gx) (GX) (GX) (Gx) (Gx)
+5H EH |t5H%| % = 7t = 7t = 7t = 7t = 7t = 7t = 5t = 5t B
1H18|H
1H2H|HA
138X 1| -138 94 2] 96| -14] -64| -62 6 3] -103] -65 0 ol -65] -119 40| o] -40
1848 |K 1| -138 94 22 96| -14] -64[ -62 6 3] -103] -65 0 o] -65] -119 40 o[ -40
1858 |A& 3] -139 93 6] 97| -16] -61] -64 -7 g 97| -74 8] -19] -66] -124 39] o] -38
1868 |& 1] -139 93 6| -97] -16] -61] -64 -7 g| -97] -74 8] -19] -66] -124 39 o] -38
1878 1| -139 93 6| -97| -16| -61| -64 -7 gl -97| -74 8 -19| -e6| -124 39 o -38
1H8H|H
189H(A
18108|X 1] -139 93 6| -97] -16] -61] -64 -7 8| -97] -74 8] -19] -66] -124 39 o] -38
18118[K 1l -139 93 6] 97| -16] -61] -64 -7 g 97| -74 8] -19] -66] -124 39] o] -38
18128 & 3] -145 95 43| -94 8] -63] -65 22 14| -105] -68 -9 o] -59] -125 40| 5] -41
18138(|& 1| -145 95 43| 94 8] -63] -65 22 14| -105] -68 -9 o] -59] -125 40| 5] a1
18148 (% 1| -145 95 43| 94 8 -63| -65 22 14| -105| -68 -9 of -59f -125 40| 5| -41
1H15H|H
1H16H|H
18178 (X 1| -145 95 43| -94 -8 -63| -65 22 14| -105| -68 -9 ol -59| -125 40| 5| -41
1818H |k 1| -145 95 43| -94 -8 -63| -65 22 14| -105| -68 -9 ol -59| -125 40| 5| -41
1H19H (A 3] -139 93 39 [ -100 o] -63] -63 21 17| -103] -65 18 ol -65| -117 39 3] -37
18206 (& 1] -139 93 39 [ -100 o] -63] -63 21 17| -103] -65 18 o] -65] -117 39 3] -37
18218 (% 1| -139 93 39| -100 of -3 -63 21 17| -103| -65 18 of -e5| -117 39 3| -37
1H22H|H
18238(A
18248| X 1] -139 93 39 [ -100 o] -63] -63 21 17| -103] -65 18 o] -65] -117 39 3] -37
1H25H (K 1l -139 93 39 [ -100 o] -63] -63 21 17| -103] -65 18 ol -65| -117 39 3] -37
1H26H (A 3] -141 94 43| -105 3] -68] -148 22 20| -108] -62 17 2| -65] -118 40| of -36
18278 (& 1 -141 94 43| -103 12| 71| -63 22 22| -110] 61 17 5] -68] -116 40| 6] -41
18288 (% 1| 141 94 43| -103 12| -711| -63 22 22 -110| -61 17 5| -6s| -116 40 6| -41
1H29H|H
1H30H|H
18318 [X 1 -141 94 43| -103 12| 71| -63 22 22| -110] 61 17 5] -68] -116 40| 6] -41
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ZyTRA> ML~

+5H 2R |ft5B#%| 5T = 5t = 5t B
1A18|A
1A28|8
1A38|X 1| -105 15] 26| -19] -25 9
1848k 1| -105 15 26| -19] -25 9
1A58[x 3| -104 4| 32 24| 24 10
186H|& 1] -104 4| 32| 24| 24| 10
1878 |+ 1| -104 o] 32| 24| 24 10
IEEEIE
1A9H|A
18108|X 1] -104 4| 32| 24| 24| 10
18118 K 1 -104 4| 32 24| 24 10
18128(|K 3| 102 36| 25| 21| 23 10
14138 1] -102] 36| 25| 21| -23 10
18148 |+ 1| -102 36| -25| -21] -23 10
1A158|8
18168 |8
18178|X 1| -102| 36| -25| -21| -23 10
18188 |7k 1| -102| 36| -25| -21| -23 10
1A198[& 3] ;102 29| 20 20| 24[ 10
182082 1l -102[ 29[ 20 -20[ 24| 10
14218 |+ 1| -102 29[ 20 -20] -24 10
1822H|H
1A238|8
18248 X 1] -102[ 29[ 20 20 24| 10
14258k 1| 102 29[ 20 -20[ 24| 10
18268|& 3] ;104 34| 21| 20| 22 8
14278 1| 104 34| -18] 21| -23 8
14288 |+ 1| -104 34| 18] 21| 23 8
1429H|H
1A308|8
1A318[X 1] -104| 34| 18] 21| -23 8
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ZyTRA> LA~

-F =) = = B[] A0 = ) ]
KRV 1-0/M I1-0/KRL =RL/H FRVR/H FRIL KRV NZRIL/H TR /KRIV Br5>R/H
(5#) (5#) (=) (=) (=) (=) (=) (%) (=)

58 e (4585 & 8 75 8 75 8 75 8 75 8 75 8 75 8 b 8 75 8
1418|H
18288
1H3H|X 1] -1928 499 | -1030 401 314 | -1226 [ -969 336 | -1666 587 39| -573]-1312 493 19| -520 [ -288 69
1848 |K 1] -1933 500 | -1021 398 311 | -1216 | -961 333 | -1659 585 39| -569]-1300 489 19| -517 [ -289 70
185H|K 3| -2025 658 | -1211 478 0]-1252]-1019 401 | -1785 672 | -174| -638|-1396 499 0] -571|-296 71
186H|& 1| -2036 662 | -1209 477 0]-1250]-1012 398 | -1773 667 | -173| -633]-1390 497 0| -567]-293 71
187H|L 1| -2017 655 | -1211 478 0] -1252| -1021 402 | -1784 671 -174 -639 | -1403 502 0] -571| -291 70
188H|H
1H9H|R
15108 |X 1] -2012 654 [ -1219 481 0]-1260] -1024 403 | -1793 675| -175] -641]-1405 502 0] -574]-293 71
1811H|K 1] -2018 656 | -1222 483 0]-1263 | -1024 403 | -1793 675 | -175| -641]-1409 504 0] -574 | -293 71
1H8128|K 3| -1854 651 [ -1125 472 251 [ -1234 | -984 441 | -1753 660 29| -572]-1331 631 10| -560 [ -292 81
1813H|& 1] -1810 635 [ -1107 465 2471 -1215| -969 434 | -1720 648 29 [ -563|-1306 619 9| -550 | -288 79
18148|L 1| -1810 635 | -1107 465 247 | -1215 -969 434 [ -1720 648 29 -563 | -1306 619 9| -550| -288 79
1H15H|H
1H16H|R
18178|X 1| -1798 631 | -1097 460 245 | -1204 | -961 431 | -1707 643 29 | -558|-1294 613 9| -545 | -281 78
1H18H|K 1] -1793 629 | -1091 458 243 | -1198 | -963 432 | -1715 646 29| -560]-1301 616 9| -548 | -281 77
1819H|K 3| -1860 633 [ -1126 483 2211 -1216] -1008 429 | -1768 667 30 [ -559|-1359 573 10| -555 [ -290 70
18208 |& 1] -1853 631 [ -1125 483 221 [ -1216 | -1000 425 | -1768 667 29| -555]-1345 567 10| -555(-287 69
18218|£ 1| -1870 636 | -1138 488 224 | -1230 | -1018 433 | -1785 673 30 -564 | -1374 580 10| -561| -292 70
1H22H|H
1H238|A
18248 |X 1] -1886 642 [ -1149 493 226 | -1242 | -1035 440 | -1797 678 30 -574]-1389 586 10| -565 [ -293 71
1825H|K 1| -1878 639 | -1147 492 225 [ -1239 | -1034 439 | -1785 673 30 [ -573]-1388 585 10| -561 [ -292 70
1H26H|K 3] -1841 617 [ -1117 468 219 [ -1206 | -2578 431 ] -1750 659 29| -883]-1366 634 10 [ -550 | -300 80
1827H|& 1| -1858 603 [ -1122 471 210 ] -1213 | -1046 433 | -1759 653 30 [ -563]-1389 644 10| -553 [ -300 80
1H288|L 1| -1853 601 | -1116 468 209 | -1206 | -1042 431 [ -1752 650 30 -561 | -1385 642 10| -551] -299 80
1H29H|H
1H308|H
1831H|X 1] -1861 604 | -1120 470 209 ] -1210 ) -1040 430 | -1753 651 29| -560|-1387 643 10| -551 [ -297 79




ZyTRA> LA~

it =g — 1] = +ire] [ EE = I+I S =) il mX =]
1-0/%RL NZRIL/ KRV HFIRIL/H I1-0/3RR KRV BFHRIL HAROR /R MLVaY3 /M =RIL/NZRIL Z142/H
(124E) (=) (=) (=) (=) (124E) (=) (124E) (=)
F5H R |{d58%| 7 = 58 8 55 = 5t = 5t = 5t 8 55 =1 58 = b 8

1H1H(H

1828|A

1838 |X 1 156 -666 0|-246 | -1189 272 235 -706 -391 -284 -293 |-225 -451 49 29 -425 1 -708 107
184H (XK 1 155 -661 01|-244 | -1184 271 234 -701 -392 -284 -292 | -224 -451 49 29 -421 | -701 106
1A5H|K 3 162 -661 -163 |1-305 | -1263 287 253 -681 -444 -283 -336 |-234 -485 51 31 -432 |1-1201 131
186H|& 1 161 -660 -162 |-304 | -1262 287 253 -680 -447 -284 -334 | -232 -488 51 31 -429 |-1200 131
1878 |% 1 162 -661 -164 | -307 | -1261 287 253 -681 -443 -281 -336 | -233 -484 50 31 -433 1 -1199 131
148H|Hd

189H |8

18108 |X 1 163 -665 -164 |-307 | -1264 288 255 -685 -442 -281 -337 | -235 -482 50 31 -434 |-1205 132
18118k 1 163 -667 -164 |-308 | -1264 288 255 -687 -443 -282 -337 |-235 -483 50 31 -434 1-1206 132
1812H(XK 3 160 -683 0 [-300 | -1253 380 281 -683 -321 -250 -320 [-230 -491 50 29 -421 | -565 228
18138|(& 1 157 -672 0(-294 [ -1228 373 276 -672 -313 -244 -314 | -226 -479 49 29 -415 | -554 223
18148 |* 1 157 -672 0] -294| -1228 373 276 -672 -313 -244 -314 | -226 -479 49 29 -415 -554 223
1H15H(H

1A168(A8

18178(X 1 156 -666 01-292 | -1216 369 274 -666 -311 -243 -312 |-224 -476 49 29 -411 | -551 222
1A18H|K 1| 155| -662 0]-293 |-1215| 369 | 272| -662| -310| -242| -313|-225| -475 48| 29| -412| -552| 222
1H19H|K 3 160 -683 0(-291|-1217 378 271 -683 -281 -59 -312 | -151 -453 50 30 -389 | -596 232
18208 |& 1 160 -683 0(-288 | -1215 378 271 -683 -280 -59 -312 | -151 -452 50 29 -386 | -594 231
18218|x 1 162 -691 0]-294| -1234 384 274 -691 -282 -60 -315 | -153 -455 51 30 -393 -597 232
1822H(H

1H23H|(A8

18248 (X 1 163 -698 0 [-298 | -1245 387 277 -698 -285 -60 -317 |-154 -458 51 30 -400 | -601 234
18258 (XK 1 163 -696 01(-297 | -1241 386 276 -696 -284 -60 -315 |-153 -457 51 30 -399 | -598 233
1826H|XK 3 199 | -1007 -59 |-277 | -1251 377 279 -697 -258 -288 -529 [ -230 -408 50 | -672 -330 | -600 229
18278 \(& 1 0 -701 0(-271|-1302 383 279 -701 -241 -100 -401 | -281 -412 50 30 -433 | -600 250
18288 |L 1 0 -697 0| -2711 -1299 382 278 -697 -240 -100 -399 | -280 -411 50 30 -431 -598 250
1H29H(H

1A308(A

18318(X 1 0 -699 0(-271|-1298 382 279 -699 -241 -100 -400 | -280 -413 50 29 -430 | -598 250




ZyTRA> LA~

= L3 [ 2] L | [+ ] | ] B3 =i =H=E3 =) B |
RIILZAR T-0/NZMV | BAOR/ATONL | RRL AR | 3-0/A7800 | 1-0/Z(X | RACR/NZRL | BAOR/ZHR | BNV T8N0
() () ) () () () () () ()
+5H EH |t5H%| % = 7t = 7t = 7t = 7t = 7t = 7t = 7t = b B
1A18|A
1A28|8
183H[X 1[-1350 | 920 215| -942| -137| -627| -613| 59| 29[-1010| -637 0 0| -636-1165] 392 0| -395
1848k 1[-1353 [ 922 213[ -934| -136| -624| -607| 58| 29[-1002| -632 0 0] -633[-1160] 390 0] -391
185H[& 3] -1406| 941 60| -986| -163| -622| -659| -72| 80| -986| -753| -80| -194| -672|-1264| 397 0] -391
186H|& 1{-1415] 946| 60| -984| -162| -618[ -654| -71| 80| -984| -751| -80| -192| -667[-1255| 394 0| -388
1878 |+ 1| -1401| 937 60| -986| -163] -622] -e60| -72 80| -986| -753] 80| -193] -671] -1263] 396 o] -392
IEEEIE
1A9H|A
18108[X 1[-1398 935[ 61| -992| -164| -625| -662| -72| 81| -992| -757| -81| -194| -675[-1269 | 399 -393
18118 K 1[-1402 [ 937 61| -995| -164| -625| -662| -72| 81| -995| -759| -81| -194| -675]-1269 | 398 0| -393
18128(|K 3|-1452| 951 | 430 -944| -79| -631| -652| 221 140]-1053| -683| -90 0] -591[-1252] 399 49| -4i1
14138 1[-1418 929 424 | -929| -77| -619| -643| 217| 138[-1037| -672| -88 0] -580[-1229[ 392 49| -405
18148 |+ 1| ‘1418 929 424] 929 77| -619| -643| 217| 138 -1037| -672] -88 o| -s580[ -1229] 392 49| -405
1A158|8
18168 |8
18178|X 1| -1400 | 923| 420| -921| -77| -614| -637| 215| 136|-1028| -666| -88 0| -575|-1219| 389 | 48| -401
18188 |7k 1| -1405| 920| 418| -916| -77| -617| -639| 216| 136|-1022| -662| -87 0| -578[-1225| 391 | 48| -402
1A198[& 3| -1397 [ 934 392 [-1006 0] 636] 629 209] 170[-1035] -654 | 181 0| -656|-1181[ 393 30| -370
182082 1[-1392 [ 931 392[-1006 0| -637] -624| 208] 170[-1035] -654 | 181 0| -656[-1181]393| 29| -367
14218 |+ 1| -1405| 939 397| -1017 o] -643] -635] 211| 172 -1047] -661| 183 0| -662] -1192] 397 30| -373
1822H|H
1A238|8
18248 X 1[-1417 [ 947 | 401 [-1027 0| -647| -646| 215| 173[-1057| -668| 185 0| -667[-1200] 400| 30| -379
14258k 1] -1411| 944 | 400 [-1025 0| -643| -645| 215| 173[-1055| -666| 184 0| -662|-1192[ 397 30| -379
18268 (& 3| -1403| 936| 429|-1047| 29| -680|-1485| 220 199|-1076| -618| 168 | 19| -649-1180| 399 0] -361
14278 1[-1417 944 | 431[-1033| 120 -713| -634| 221 220[-1102| -611| 170| 50| -684|-1166] 401| 60| -412
18288 |+ 1| -1413] 941|429 -1027] 119] -710| -631| 221 219| -1096| -608] 169 50| -681[ -1161] 399 60| -a11
1429H|H
1A308|8
1A318[X 1[-1419] 946| 430[-1030| 119[ -710| -630| 220| 219[-1100] -610| 170 50| -681[-1162] 400| 60| -410




ZyTRA> ML~

=M = | i 1+l B-Hel =le] = = e | [ ol =
NZRIL/ZAR NZRIL/ BFFRIL £E]RY/H KRV H 1-0/M I1-0/KRL =RL/H SRR/ SRV KRV
(%) (%) (%) (RRY—=>7) (RRY—=>7) (RRY—=>7) (RRY—=>7) (RRY—2>7) (ZRN=Z2%)
5H EH |(f5H%| % 8 75 8 75 8 75 8 75 8 75 8 75 8 w |B| E
181H([H
182H(A
1H3H|X 1] -1036 148 | -256| -187 [ -245 88| -193 50 [ -103 40 31 -123 -97 34| -167 |59 4 -57
1848 |K 1] -1026 147 | -254 | -185]| -246 89| -193 50| -102 40 31 -122 -96 33| -166] 58 4 -57
185H|K 3| -1060 40| -325| -245| -243 101 | -202 66 [ -121 48 0| -125] -102 40| -179 | 67 -17 -64
186H|& 1] -1055 40| -324 | -243 | -245 102 | -204 66 | -121 48 0] -125] -101 40| -177 | 67 -17 -63
187H|L 1| -1065 40 -327 -246 -246 102 -202 66 -121 48 0 -125 -102 40 -178 | 67 -17 -64
148H([H
1H9H|R
15108 |X 1] -1067 40| -328 | -246| -245 102 ] -201 65| -122 48 0| -126] -102 40| -179| 67 -18 -64
1811H|K 1] -1070 40| -328 | -247 [ -247 103 | -202 66 | -122 48 0| -126| -102 40| -179 | 67 -18 -64
1H8128|K 3| -1021 360 | -250| -210(| -232 101 ] -185 65| -112 47 25| -123 -98 44| -175] 66 3 -57
1813H|& 1] -1002 353 | -245| -206| -228 99| -181 64 [ -111 46 25| -122 -97 43| -172 | 65 3 -56
18148|L 1| -1002 353 -245 -206 -228 99 -181 64 -111 46 25 -122 =97 43 -172| 65 3 -56
1H15H|H
1H168H|A
18178|X 1| -993 350 | -243 | -204 | -227 99 | -180 63| -110 46 24 | -120 -96 43| -171| 64 3 -56
1H18H|K 1| -998 352 | -244 | -205( -228 99| -179 63| -109 46 24 | -120 -96 43| -172 | 65 3 -56
1819H|K 3| -1027 291 -201) -201| -238 99| -186 63| -113 48 22| -122| -101 43| -177 | 67 3 -56
18208 |& 1] -1016 288 | -199| -199| -236 98| -185 63| -113 48 22| -122 ] -100 43| -177 | 67 3 -55
18218|£ 1| -1038 294 -203 -203 -240 100 -187 64 -114 49 22 -123 -102 43 -179 | 67 3 -56
14228|H
1H238|A
18248 |X 1] -1049 298 | -205| -205]| -243 101 ] -189 64 [ -115 49 23| -124] -104 44| -180 | 68 3 -57
1825H|K 1] -1048 297 | -205| -205| -242 101 [ -188 64 [ -115 49 23| -124| -103 44| -178 | 67 3 -57
1H26H|K 3| -1030 337 | -207| -198 | -219 80| -184 62| -112 47 22| -121] -258 43| -175] 66 3 -88
1827H|& 1] -1047 342 | -181| -211| -231 80| -186 60 [ -112 47 21| -121] -105 43| -176 | 65 3 -56
1H288|L 1| -1044 341 -180 -211 -231 80 -185 60 -112 47 21 -121 -104 43 -175| 65 3 -56
1H29H|H
14308|A
1831H|X 1] -1045 342 | -181| -211| -232 81| -186 60 [ -112 47 21| -121 | -104 43| -175| 65 3 -56




ZyTRA > ML A~

BifT = o] : =le [P ] = i+l=] B = 1 | Sf=iE
NZRIL./H TARYR/ KRV mr7>R /[ 1-0/%RL NZRL/ KR HhFHFRIL/H I1-0/3RR KRV BFHIRIL TRYR/FRIL
[CNEZ)) [CNEZ)) (CNEZ)) (CNEZ)) (CNEZ)) (CNEZ)) (RN—=324) (RN—=324) (RN—=324)
158 A (58K % =] o =] 5 =] o =] 5 =] o =] x| B | % = 5 =
1818(8
1828(8
1838 |X 1] -131 49 2 -52 -29 7 16 -67 0 -25 -119 27 24| -71 -39 -28 -29 -23
184H (XK 1| -130 49 2 -52 -29 7 15 -66 0 -24 -118 27 23| -70 -39 -28 -29 -22
1A5H|K 3] -140 50 0 -57 -30 7 16 -66 -16 -31 -126 29 25| -68 -44 -28 -34 -23
186H|& 1| -139 50 0 -57 -29 7 16 -66 -16 -30 -126 29 25| -68 -45 -28 -33 -23
1878 |% 1 -140 50 0 -57 -29 7 16 -66 -16 -31 -126 29 25 -68 -44 -28 -34 -23
ICEEIE
1898[8
18108 |X 1| -141 50 0 -57 -29 7 16 -67 -16 -31 -126 29 25| -69 -44 -28 -34 -23
18118k 1| -141 50 0 -57 -29 7 16 -67 -16 -31 -126 29 26 | -69 -44 -28 -34 -23
1812H([XK 3] -133 63 1 -56 -29 8 16 -68 0 -30 -125 38 28 | -68 -32 -25 -32 -23
1H13H|& 1] -131 62 1 -55 -29 8 16 -67 0 -29 -123 37 28 | -67 -31 -24 -31 -23
18148|x 1 -131 62 1 -55 -29 8 16 -67 0 -29 -123 37 28 -67 -31 -24 -31 -23
181588
18168 |8
18178 |X 1| -129 61 1| -55| ~-28 8 16| -67 0| -29| -122 37 27| 67| -31| -24| -31| -22
1818H (XK 1| -130 62 1 -55 -28 8 15 -66 0 -29 -121 37 27 | -66 -31 -24 -31 -23
1H19H|K 3| -136 57 1 -56 -29 7 16 -68 0 -29 -122 38 27 | -68 -28 -6 -31 -15
18208 |& 1| -134 57 1 -56 -29 7 16 -68 0 -29 -122 38 27 | -68 -28 -6 -31 -15
18218|x 1 -137 58 1 -56 -29 7 16 -69 0 -29 -123 38 27 -69 -28 -6 -31 -15
18228(8
1H23H(A8
18248 (X 1| -139 59 1 -56 -29 7 16 -70 0 -30 -125 39 28| -70 -28 -6 -32 -15
18258 (XK 1] -139 59 1 -56 -29 7 16 -70 0 -30 -124 39 28 | -70 -28 -6 -31 -15
1826H(|XK 31 -137 63 1 -55 -30 8 20 -101 -6 -28 -125 38 28| -70 -26 -29 -53 -23
18278 \(& 1] -139 64 1 -55 -30 8 0 -70 0 -27 -130 38 28 | -70 -24 -10 -40 -28
18288 |L 1 -139 64 1 -55 -30 8 0 -70 0 =27 -130 38 28 -70 -24 -10 -40 -28
18298 (8
183088
18318(X 1] -139 64 1 -55 -30 8 0 -70 0 -27 -130 38 28 | -70 -24 -10 -40 -28




ZyTRA > ML A~

Bifi7 = Elle| i N Edle] =0 E&ue ] [ | [+ | o B «] [ |l <= |
MLaU5/m | RML/NZRL A2/ KEL/ZAX | 1-0/NZBL | ®ACE/D3500 | BV 24 | 1-0/57900 | 1-0/Z242 | SACE/NZEL
QM=) | Q=) | QN=24) | QM) | @M=D) | G- | G- | QNS | GQN-SY) | RN=S)
458 e gg 5t = 7t = 7t B b B b B 75 B 75 E 75 B 5% B 55 B

181H|H

1A2H|8

1A38[X 1 45 5 3 42 71 11| 135 92| 21| 94| -14[ 63| 61| 6 3[-101] 64| o0 0| -64

1848[K 1| 45 5 3] 42| 70| 11| -135| 92| 21| 93| -14| 62| -61] 6 3[-100] -63] o0 o[ -63

1A5H|& 3] -49 5 3 43 -120] 13 141 o4 6] 99| -16] 62| -66| -7 8| 99| -75] -8] -19] -67

18682 1 -49 5 3] 43| -120] 13[ -141| 95 6| -98| -16] -62| 65| -7 8| 98| -75[ 8| -19] -67

1A78|+ 1| -48 5 3| -43| -120] 13| -140| o4 6| -99| -16| -62 -66[ -7 8| 99| -75| -8 -19] -67

1A8H|H

1A9H|A

18108|X 1| -48 5 3] 43| -121] 13 -140| 94 6| -99| -16] -63] 66| -7 99| 76| 8| -19] -67

1A11E[K 1| -48 5 3 43 121 13 -140| 94 6] 99| -16] 62| -66| -7 8| 99| -76| -8] -19| -67

18128[A 3] -49 5 3 42| -s6] 23] -145| 95| 43| 94| -8 -63| -65[ 22| 14[-105] -68] -9 o] -59

18138[& 1| -48 5 3 a1 55 22 142 93| 42| 93| 8| 62| 64| 22 14[-104] -67] -9 o] -s8

18148 (£ 1| -48 5 3| -a1| -85 22| -142| 93| 42| -93| 8| -62| -64| 22| 14f-104| -67| -9 o| -58

18158[H

1A168|8

1A178|X 1| -48 5 3| 41| -55| 22| -141| 92| 42| -92| -8| -61| -64| 22| 14|-103| -67| -9 0| -58

18188 |k 1| -47 5 3| -41| 55| 22| -140| 92| 42| -92| 8| -62| -64| 22| 14(-102| -66| -9 o| -58

1H19H[A 3| 45 5 3 39 -60] 23] -140] 93| 39 -101 0| 64| -63[21] 17]-104| -65] 18 o] -66

1820H[& 1| 45 5 3 -39 -s9] 23] -139] 93| 39] -i01 0| 64 -62[ 21| 17]-103] -65] 18 0| -66

18218|+ IR 5 3| -39] -60| 23| -140| 94| 40| -102 ol -e4| -e3| 21| 17|-105] -e6| 18 o| -66

18228[8

1823H8|8

18248| X 1| -46 5 3 40 -60] 23] -142] 95| 40| -103 o -65[ -65[ 21| 17]-106| -67] 18 o] -67

18258k 1| -46 5 3 40 60| 23] -141| 94| 40| -102 0| 64| 6421 17]-105] -67] 18 o] -66

1826H|A 3] 41 5] 67| -33] -60[ 23] -140[ 94| 43 -105 3| -68] -148] 22 20]-108] -62] 17 2| 65

182782 1 41 5 3 43 60 25| -142| 94| 43| -103| 12| 71| -63[ 22 22[-110] -61] 17 5] -68

18288 |+ 1| -41 5 3| -43| -60| 25| -141| 94| 43| -103| 12| -71| -63| 22| 22{-110| -61| 17 5| -68

1529H[H

1A308[8

18318[X 1 41 5 3 43 60| 25| -142| 95| 43] -103| 12| 71| -63[ 22 22[-110] -61[ 17 5] -68




ZyTRA> LA~

XAREI-AF10GFBEHRD. AN - 1-A31HBEHILDOEEETY.

B = == sl i+l i - X ] E-Hlel
FRVR /2R SR/ DFFRIL NZRIL/ZAR NZRIL/ HFFRIL £RY/H
(RRY—=>7) (RRY—=>7) (RRY—=>7) ) (RRY—=>7)
58 EH |(f5H%| % 8 75 8 75 8 75 8 75 8

181H([H

182H(A

1H3H|X 1] -117 39 0 -39 | -104 15 -26 -19 -24 9
1848 |K 1] -116 39 0 -39 | -103 15 -25 -19 -25 9
185H|K 3| -126 40 0 -39 | -106 4 -33 -24 -24 10
186H|& 1] -126 39 0 -39 | -106 4 -32 -24 -25 10
187H|L 1| -126 40 0 =39 -107 4 -33 -25 -25 10
148H([H

1H9H|R

15108 |X 1] -127 40 0 -39 | -107 4 -33 -25 -24 10
1811H|K 1| -127 40 0 -39 | -107 4 -33 -25 -25 10
1H8128|K 3| -125 40 5 -41] -102 36 -25 -21 -23 10
1813H|& 1] -123 39 5 -40 | -100 35 -24 -21 -23 10
18148|L 1] -123 39 ® -40 -100 3 -24 -21 =23 10
1H15H|H

1H168H|A

18178|X 1| -122 39 5 -40 -99 35 -24 -20 -23 10
1H18H|K 1| -123 39 5 -40 -100 35 -24 -21 -23 10
1819H (K 3| -118 39 3 -37 ] -103 29 -20 -20 -24 10
18208 |& 1] -118 39 3 -37 | -102 29 -20 -20 -24 10
18218|£ 1] -119 40 3 =37 -104 29 -20 -20 -24 10
14228H|H

1H238|A

18248 |X 1] -120 40 3 -38 | -105 30 -21 -21 -24 10
1825H|K 1| -119 40 3 -38 | -105 30 -21 -21 -24 10
1H26H|K 3| -118 40 0 -36 | -103 34 -21 -20 -22 8
1827H|& 1] -117 40 6 -41 ] -105 34 -18 -21 -23 8
1H288|L 1| -116 40 6 -41 -104 34 -18 -21 =23 8
1H29H|H

14308|A

1831H|X 1] -116 40 6 -41] -105 34 -18 -21 -23 8




